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GEOGRAPHY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

Delta Kames are the outcome of

‘ ! 5.  Given below are two statements, one
(A) Glacial erosion labelled as Assertion (A) and the
(B)  Wind deposition other labelled as Reason (R).
(C) River deposition Select your answer from the codes
(D) Glacial depOSitiOIl given below :
Assertion (A) : Flowing as a sheet
Match List — I with List — II and across a land surface, running
select the correct answer using the water picks up particles and
codes given below : moves them downslope into a
List-1 List — 11 stream channel.
(Name of the book) (Author) Reason (R) : Stream flow always
(a) Essaysin (i) L.C.King transport all kinds of sediment
Geomorphology load downstream.
(b) Morphology of (ii) G.H. Codes :
the Earth Dury (A) Both (A) and (R) are true.
(c) Unstable Earth  (iii) C.A.M. (B) Both (A) and (R) are true, but
King (R) is  not the correct
(d) Techniques in (iv) J.A. explanation. .
Geomorphology Steers (C) (A)is true, but (R) is false.
Codes : (D) (A)is false, but (R) is true.
(@ (b () (@ 6. Flat topped steep sided upland
(A) @Gy @) (v) (i) capped by a resistant rock layer
(B) (@) (i) (iv) (i) normally formed in arid lands is
(©) @Gv) G @) @) called
(D) @Gv) @) @) (G (A) Erg (B) Cuesta
(C) Mesa (D) Escorponant
A ramp of sand deposited by streams )
7.  Given below are two statements, one

along foothills in the arid land is
called

(A) Hamada

(B) Bajada

(C) Desert Wash

(D) Pediment

Arrange the following mountain
building theories in order in which
they published :

Use the codes given below :

(i) Continental Drift Theory.

(i1)) Convection Current Theory.
(iii) Sea Floor Spreading Theory.
(iv) Plate Tectonic Theory.

Codes :
A) @) ) (i) (@v)
B) (i) () (i) (iv)
©) Gv) G () (i)
(D) G @ G) @Gv)

Paper-11

labelled as Assertion (A) and the

other labelled as Reason (R).

Select your answer from the codes

given below :

Assertion (A) : A characteristic
feature of the tropical cyclone is
its central eye.

Reason (R) : Tropical cyclone is
not associated with cloud-free
vortex produced by the intense
spiralling of the storm.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is false, but (R) is true.

(D) (A) is true, but (R) is false.
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10.

11.

12.

Rating curve is useful for estimation
of

(A) River discharge

(B) Stream velocity

(C) Dissolved load

(D) Hydraulic radius

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : Coral reefs grow in
shallow and warm water.

Reason (R) : Near vertical and
direct incidence of solar radiation
is essentially required for the
growth of coral reefs.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Sublimation describes the direct

transition from

(A) Solid to vapour
(B) Vapour to solid
(C) Liquid to vapour
(D) Vapour to liquid

The savanna biome is
associated with

(A) Tropical wet-dry climate
(B) Equatorial wet climate
(C) Tropical dry climate

(D) Monsoon climate

usually

Who was the first Geographer to
ascertain the length of the equator ?
(A) Eratosthenes

(B) Herodotus

(C) Anaximander

(D) Thales
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13.

14.

15.

16.

Who was the first person to plot the
Bay of Bengal ?
(A) Strabo

(C) Al-Masudi

(B) Ptolemy
(D) Humboldt

Who is the author of the book
Modern Geographical Thought ?

(A) David Harvey

(B) R.J.Johnston

(C) Brian J.L. Berry

(D) Richard Peet

Match the following List — I with

List — II and select the correct
answer from the codes given below :
List -1 List — 11
(a) Humboldt (i) Anthropogeographie
(b) Oscar (i1) Erdteile
Peschell
(c) Richtofen (iii) Kosmos
(d) Ratzel (iv) Das Ausland
Codes :

(@ (b)) (o (d
(A) @ @G @) (@Gv)
B) () @Gv) @) @)
©) @) @G Gv) @
(D) @i) @Gv) () @

Match the following List — I with

List — II and select the correct
answer from the codes given below :
List -1 List - II
(a) Isochrone (i) Equal
Map biological
event
(b) Isoneph (i) Equal time
Map
(¢) Isotim (iii) Equal
Map cloudiness
(d) Isophene  (iv) Equal
Map transport cost

Codes :
@ b)) (© @
(A) (1) (@) @[Av) (1)
B) @Gi) @Gv) @@ (i)
(C) (@v) (@) @) (@)
(D) (i) @) @GAv) (@)
D-80-10
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17.

18.

19.

20.

‘Principle of Least Effort’ related to
human migration is propounded by

(A) Stouffer (B) Revenstein
(C) Weber (D) Jiff

Arrange the following countries in

accordance with their population size :

(A) Pakistan, Bangladesh, Sri
Lanka, Nepal

(B) Pakistan, Sri Lanka, Nepal,

Bangladesh

(C) Bangladesh, Pakistan, Nepal,
Sri Lanka

(D) Sri Lanka, Bangladesh, Nepal,
Pakistan

Among the following South-Asian
countries, which one is the most
urbanized ?
(A) Nepal
(C) Maldives

(B) Bangladesh
(D) Sri Lanka

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : At present urban
natural increase is not an
important contributor to high
rates of urban growth as the rural
urban migration.

Reason (R) : Because of lower
mortality, natural rate of increase
is higher in the modern era than
in the historical past.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-11

21.

22,

23.

Which one of the following is a
renewable resource ?

(A) Coal

(B) Wind energy
(C) Iron ore

(D) Mica

‘All resources are renewable on
some time scale ..... what matters for
the sustainability of future supplies
is the relative rates of replenishment
and use.....

In view of the above statement
identify the correct order of the
resource continuum in descending
order of renewability.

(A) air, tidal power, bauxite, forest
(B) air, bauxite, forest, tidal power
(C) tidal power, air, bauxite, forest

(D) forest, air, tidal power, bauxite

The office of Registrar General and
Census Commissioner of India is
responsible for

L Conducting decennial census
and publication of its related
data.

II.  Publication of annual land-use
data.

III. Publication of annual health
and education data.

IV. Publication of annual vital
statistics based on sample
registration system.

(A) Tand II are correct.
(B) TandIV are correct.
(C) Iand III are correct.
(D) All are correct.

D-80-10
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22,

23.

fr=fefad & ¥ S JA-eeoT gare=
g2

(A) T

(B) =g

(C) e 3Ta&h

(D) ¥

T & et 7 fod tHe W ogEe

T GO B oy
i YT Sl ST o feTT g+RoT
AT IUFNT Tl ATUTRTR S & HEH

(A) &an, S-S, Seee, a9
(B) &, SreTEe, o, SaR-3Ne
(C) SOR-3Ife, &, SedTEe, o
(D) o, &all, SaR-31fa, SeTee

ORA & el USiiaes a1 ST

F FEAE g § 9 e o

I & ?

[ SNy SOET @9 U 399
TR TSl ol UhI9M |

I ot fE-3wm & kel &
ThTI |

. Ses W@ a e & kel
T YHA |

IV. ufdaae dSieoT Jurel o SR
W U e S-HOT
HifteTeh! T UHIP |

(A) 1T EEE |

(B) IV ®EIe |

(C) Tam Il w&E |

(D) SuRfeifaa o+t @&t e |

Paper-11



24.

25.

26.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) Biomass
energy sources are renewable
resources lying in the critical
limits.

Reason (R) : Biomass can be
replenished over a time period.

In the context of the two statements,
which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the complete
explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Which of the steel plants is port
based ?

(A) Bhilai

(B) Durgapur

(C) Vishakhapatnam
(D) Rourkela

Which one of the following is not
associated with political geography ?

(A) F.Ratzel

(B) I. Bowman

(C) R.J.Johnston
(D) H.J. Mackinder

Paper-11

27.

28.

29.

30.

31.

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List - I1
(Geographers) (Associated with)
(a) C. Sauer (1) Radical

geography
(b) D. Harvey  (2) Cultural

geography
(c) F. Ratzel (3) Social

geography
(d) H.J. (4) Political

Johnston geography
Codes :

(@ (b)) (o) (d
A @O 3 @ @
B @ O @ O
< @ 3 @ D
© @ @O 3 @D

In India the State is used as a

national planning unit because

(A) itis an administrative unit

(B) itis a homogeneous unit

(C) Dbecause of political
considerations

(D) uniform physical features

One of the important determinants of
urban land value is

(A) Climate

(B) Historical factors

(C) Topography

(D) Accessibility

The control or direction of resource
development is called

(A) Resource utilization

(B) Resource allocation

(C) Resource management

(D) Resource availability

The principle of homogeneity and
interrelationship can be wused to
delineate units for

(A) development planning

(B) resources analysis

(C) allocation of resources

(D) location specific facilities
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32.

33.

34.

3s.

During which of the following year

National ~ Water  Policy  was
formulated in India ?

(A) 2002 (B) 1987

(C) 2007 (D) 1985

Which of the following is not an
Agro-climatic region of India ?

(A) East Coast Plains and Hills
(B) The Eastern Plateau and Hills
(C) The Western Ghats

(D) The Trans Ganga Plains

Which one of the following is
wrongly matched ?

Peaks Height
(A) Anaimudi — 2965 m.
(B) NangaParbat - 7756 m.
(C) Mt. Everest — 8848 m.
(D) K2 — 8611 m.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : The Northern plains
and Eastern coastal areas possess
a dense network of railways in
India.

Reason (R) : These regions have
well developed industries.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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36.

37.

38.

39.

40.

Match the following List — I with

List — II and select the correct

answer from the codes given below :
List -1 List - II
(Rivers) (Dams)

(a) Damodar (i) Pong

(b) Mahanadhi (ii) Konar

(c) Chambal (iii)) Naraj

(d) Satlyj (iv) Gandhi Sagar

Codes :
@ () (© (@

(A) (1) (@) @) @Gv)

B) @) i) Gv) @
(©) Gv) i) () @
D) O G 3>) (@Gv)

Which of the following statement is
correct on the share of India’s
population to world population as
per 2001 census ?
(A) 14.7%
(C) 16.7%

15.7%
17.7%

(B)
(D)

In remote sensing systems which
sensors,  measures naturally
available energy ?

(A) Active Sensors

(B) Passive Sensors

(C) Synthetic Aperture Radar

(D) Microwave Remote Sensing

In which of the following diagrams
the relationship of relative humidity
and temperature is depicted ?

(A) Hythergraph
(B) Climograph
(C) Ergograph
(D) Band graph

Variable class interval for mapping
will prove more meaningful when
the variable is

(A) normally distributed

(B) highly skewed

(C) highly consistent

(D) measured on ordinal scale

D-80-10



32.

33.

34.

3s.

fr=fefiad & 9 v a9 & 9Rd ° U=
STt ATl <Rl gareg feRa T ?

(A) 2002 (B) 1987

(C) 2007 (D) 1985

frafefed & ¥ S 9Rd H FEF
STeTdTg IS 9T e & ?

(A) o QSR HE T YRS |
(B) el UR T WeTS &

Fretfetfiga & & = 1 v forer fera

TR ?

RERRNICTY
S
0 e
HISUZ ToRE
*2

-
2965 X
7756 Hiex
8848 HX
8611 HieX

(A)
(B)
(©)
(D)

T <7 e 5T T € | Uk ol SR

(A) T T A HRT (R) 1 A9

TR | A 3 T Gohdl 9 370 ST

T P

AMHPAT (A)  : WRA & IR AT &
qT g GURAIT & § YT ot UeRat
T e ST (ST g & |

HROT (R) : 7 &350 H Giaehiad IamT-4
g

el ¢

(A) (A) @ (R) T Wel € 3R (R),

(A) ! TE AT E |

(A) 71 (R) ST Wl € W (R),

(A) & & AT TR & |

(A) T E, Rq (R) TAT & |

(A) TeAd &, R (R) Wl & |

(B)

(©)
(D)
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36.

37.

38.

39.

40.

et — 1 1 Toer gt — 11 % 91 hifste

e e 53 T3 Gehdl @ HEl ST 1 9T
HifeTT ;
e -1 T - 11
(T (&)
(a) THIR G) G
(b) TR (i) AR
(c) == (iii) ST
(d) TaersT (iv) TIe |R
Hohet ¢

@ (b)) (© (@
(A) () (@) (@) (v)
B) (i) @i Gv) @
(©) @(v) @i Gi) @)
D) @ G (i) (Qv)
forver sht STEEAT Sl 2001 Y SITOMT &
ER YRA &l SHEE % Gay H
Trfetfiad & @ o 91 HuT We e 2
(A) 14.7% B) 15.7%
©) 16.7% D) 17.7%

e Gt yonferat § fefaiad & 9
HF AT GG UTHIAh € F U ol
1 AT AT ?

(A) TUhed TR

(B) ufee a4

(C) Tadfesh umR TSR

(D) TTEshioe Rwte |

FAfaiad 9 9 69 3 9 STsdr aon
ATEE % QTfeTE Gey o femer fwar
ST 2

(A) TEOH

(B) SATSHIUTH

(C) Ui

(D) = U®

WA &% AU URadiE o =R’
31Tk TTefeh o« foeg g, S e’
B |

(A) mEq: foaRa € |

(B) ercfysh famm g |

(C) T A& |

(D) SHHGTS IO R AT & |
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41.

42.

Harmonic mean as a method of
central tendency is suitable for data
pertaining to

(A) Index numbers
(B) Growth rates

(C) Wind speed

(D) Population density

Match List — I with List — II and

44.

“A Handbook of Commercial
Geography” is a translated work
published in 1889. Who of the
following is the translator ?

(A) Dudley Stamp

(B) George Chisholm

(C) Von Thunen

(D) Karl Marx

45. Given below are two statements, one
select the correct answer from the labelled as Assertion (A) and the
codes given below : other labelled as Reason (R). Select

List -1 List - II your answer from the codes given
(Mapping (Characteristics) below :
technique) Assertion (A) : In  modern time
(a) Chorochromatic (i) density artifacts are changing faster than
(b) Choroschematic (ii) sign and the mentifacts of cultgre.
Reason (R) : Economic
symbol liberalization and modernization
(©) Isoplethlng. QH) tunt layerlpg forces tend to bring critical
(d) Choroplething (iv) interpolation economy and cultural change.
Codes : Codes :
@ b)) © @ (A) Both (A) and (R) are correct,
(A) () (@) @) @Gv) but (R) is not the correct
B) G Gv)y @ i) explanation of (A).
(C) (i) (i) Gv) @) (B) Both (A) and (R) are correct
(D) @) @) 3Gi) (v) and (R) is the correct
explanation of (A).

43. Given below are two statements, one ©) (A) Is correct, but (R.) is false.
labelled as Assertion (A) and the (D) (A)is false, but (R) is true.
other labelled as Reason (R). Se}ect 46. Match the following List — I with
your answer from the codes given List — TI and select the correct
below : answer from the codes given below :
Assertion (A) : Great Lakes region List =1 List = II

of U.S.A. is well developed with (Geographer) (Theory)

industries. (a) Losch (i) Agglomeration
Reason (R) : This region was the Theory

region of earlier settlement in (b) Weber (i) Market Area

Location Theory

U.S.A. by migrants from Britain.
(ii1) Least Cost

Codes : (c) Thombson

Theory
(A) Both. (A) and (R) are true a}nd (d) Reily (iv) Gravitation
(R) is the correct explanation Theory
of (A). Codes :
(B) Both (A) and (R) are true, but @ () () (d)
(R) is not the correct (A) (1) @Gi) (i) (@Gv)
explanation of (A). B) Gi) Gi) @) @Gv)
(C) (A)is true, but (R) is false. ©) G @Gv) (1) (i)
(D) (A)is false, but (R) is true. D) Gi) @ (@Gv) (i)

Paper-11 12 D-80-10



41.

42,

43.

HRT TG B U G F T H AP
et feh W o 3ATehe o Tt Suger € 2
(A) HIFH

(B) FET

(C) g

(D) SHEEA g

Tt — 1 1 THeT= gt — 11 % 91 hifete
qo A f§F T Gohal ¥ 3T 3T A
Wﬂ%ﬁﬂ:

T -11

T -1
(=TT deheiten) (3ATTETETom)
(i) Ee

(a) PRIHHCH
(b) FRI@RWleE (i) ToeT qen udis
(c) ITEHTATRT (iii) ST TAfepor
(d) PRIATT R ELENE)
ok

(@ () (© (@
(A) () (i) Gi) @Gv)
B) Gi) @Gv) @@ (ii)
(©) (i) @G (Gv) @)
D) () @G (@) @Gv)

T <1 U f§F T € | Uk T ST

(A) T T A HRT (R) 1 A9 =

T E | T 3 T Gehal § ST ST

T P

HHIT (A) : J TH T H U AT
&5 TTANT-48 F WoAl-HiTq forepfaa & |

HROT(R) : TE &7 oA A J T TH 3
TG ol STRCER QT &1 o |

Hohet

(A) (A) @41 (R) ST W&l & a1 (R),

(A) Tl TEl AT |

(A) @ (R) SHI Wl €, T (R),

(A) ! T AT TET & |

(A) W& &, R (R) T € |

(A) TeTd &, T (R) Wel € |

(B)

(©)
(D)
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44.

45.

46.

“U FUSTH IHF HATTAA (ST
1889 © YR U SFIANEA FH T |
= o q 1 SRR T ?

(A) T WL

(B) irt feremg

(C) aFgH

(D) et AR

e 7 e 53 T E | U i AT
(A) T 3E H HROT (R) 1 19 =
TR | A f§F T Gehdl © 30 3T H
T HITTS
MIHIT (A)  : YT THT H T

% Terhded H STURT  STfethaed

ATy dierdl 9 TRafdd el @ & |

NATRT qAT TIGFIIH FGeATS hl
T A E |
ket
(A) (A) T4 (R) T W&l & a1 (R),
(A) T TE AT TR € |
(A) 791 (R) ST Wl &, TR (R),
(A) Tl TEl AT |
(A) W& &, R (R) T € |
(A) TeTd &, T (R) Wl € |

et — 1 1 Toer gt — 11 % 91 hifste
qor 9 7 T Gohdl § U ST H
Wﬂ%ﬁﬂ:

(B)

(©)
(D)

L | T -11

CYUSER) (i)
(a) @ () U1 Tasid
(b) I (i) IR & Tarefd

fagia

(c) = (iii) = @Td fagia
(d) & (iv) TRy fagid
Tohd

(@ (b)) (o (d
(A) @ @G (@) (@Gv)
(B) () (i) @) (@v)
©) () @Gv) @@ (D)
(D) @i) (@) (Gv) (i)
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Read the following paragraph and asnswer
the question numbers 47 to 50 :

Yeung and Lo (1996) and Tasaka (1998)
have shown that the dynamics of
urbanization in East Asia and Southeast
Asia started to change rapidly in the

1980s. Tasaka (1998) characterizes
urbanization in developing countries as
“urban  involution”,  describing  the

characteristics ~ of  urbanization in
developing countries by three terms

“concentrated urbanization” (urbanization
occurs while the rural population level is
higher than that in developed countries);
“primate cities” (overconcentration of
economic, political and cultural functions
in primary cities); and “over-urbanization”
(inflow of population beyond a level the
city can productively absorb). Among the
factors associated with over-urbanization
are high levels of unemployment and
employment insecurity; large-scale
inadequacies of infrastructure such as mass
transportation systems, water supply and
sewerage systems, and waste treatment
facilities; environmental pollution; severe
stress on urban governance; and overall
poverty levels that hamper the formation

of financial mechanisms that could
facilitate urban environmental
infrastructure improvements (Kidokoro
1998).

It is important to bear in mind that besides
the mechanisms for wurban growth

described here, there are other driving
forces for the urbanization process in Asia,
and they vary in different countries.
Urbanization in Asia is not a uniform
process. The changes in the mechanisms of
urban growth described above can be seen
as imparting a huge impact on urban
environmental issues. As the pace of
urbanization accelerates, environmental
problems may worsen due to inadequate
urban environmental infrastructure. On the
other hand, the promotion of economic
growth could speed up the solutions to
environmental problems.

47. The tone of the above passage can
best be described as

(A) Analytical and scientific
(B) Factual but descriptive

(C) Behavioural

(D) Tentative and inconclusive

48. The author is primarily concerned

with

(A) Criticizing the urbanization
process.

(B) The process of urbanization

and over-urbanization in the
developing countries.

(C) Factors of suburbanization in
the developing countries.

(D) Urban infrastructural growth in
Asia.

49. Environmental problems according
to the author can be improved with
(A) Social inclusion
(B) Economic growth
(C) Political will
(D) Strong legislation

50. “Urban Involution” in the
developing  countries is  not
characterized by
(A) Rural population level is

higher than that in developed
countries.

(B) A uniform process of rural-
urban change.

(C) Over-concentration of
economic, political and
cultural functions in primate
cities.

(D) Inflow of population beyond a

level the city can productively
absorb.
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e 7T T TRIYT i UTGU 3R U9 WEAT 47-50
% IR T

AT e AT (1996) AT T@TR (1998) =
I & T gd i qen stefo-ud uierEr §
TRIIOT i TRl § 1980 o IV T e
IR TRET g3 | qareht (1998) 7 fosmrasier
2O H TR Bl CTRIG TeAdr & BT H
ATerTd foham & a2 =0 uRed | foremraetict
I H TRIHT & AL T T A+ &l
% GRT TRl & — “Tehigd TTRIFOT (FTRIHTOT
qE BT & A UTHIOT SEET B &R faehiad
I B G W I B ®); @ AR
(T@ TR § 37TEeh, TSHITae ael Qi
TShATEATIRT T 3d-Tehg 0T FT); aqer “3fd-
TREOT (SEET 6 F<aE 39 &R 9
31Tk & ST 579 TR o TR 3T %olig & o
STHHTT Y Tl &) | SA-TRIET F g
FHRHBI T IMHA & — s SRISTIRT T
USTIRURGE  3TRET;  SH-URee-  Hofera,
STEATYf T HoASTo- (AT el a7l Tafre
TSt % SUER W giaersl Sl Hetud
O HI AUH AT,  TAEROMT
TG, It STV TR Y=US Sarel el T
RIS T TR ST TR Sl ATER0T e gord
FTETT W WG HA Al MEw
Tsrenfaterar =t sifres wear € (fhetehit, 1998) |

TG I W I A7 Tewqol & foh TR
foepra o Sultferfiad werel & efaiier ofvman o
TR Uihar % T Wk oA W € adr
fafe= 3o & 3 fo=r-fr=r g & | wlver |
TIRIFROT ThTHT VTl 61 € | TR o
% SURTANTT WehHT I TR TAERTIT Gal T
T fo9er U9 % ®9 W @1 ST GehdT € |
TR & T & i 8 % G TR
TERNT HTd ST i ST
FHROT YATER0T Gael THEME 95X &l Fehell & |
T AR, I foeh & 319 ¥ wieReny
FHEN & THTEM St T el st ST Febell & |

47.

48.

49.

50.
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IURTARE RIS o T ot FEtetEd o
¥ 5 ®0 § ga® w7 F 90w fohar 5
e & ?

(A) Tagcisoneres qun S

(B) AT T~ [TeRUTcHSR

(C) Id8R ulh

(D) 31Tt T TUTR

TGk T ey g ®9 9 e € 2

(A) TRISHROT St Ui ht STAET |

(B) faehrasiicr <9 § STRIRIOT aer
AR ot TR 9 |

(C) faeprasiier IO H PRI &
FRAT |

(D) URET § TRE golyd STEERe
FEH |

TEF & FOR FEferad § § fhaeh
FRT JATERON FHETS § IR AT S
T & ?

(A) QIS =TI

(B) Tk fashra

(C) TSI eI

(D) TR SATEFEH

forpraeliet 291 § “TRIT TeTar e 9
fopareh g1 atfrertera @t et 2

(A) Towfad <o w0 oTdem T
ST T TR ST BT |
TMHOT-TRE GRadT i T THH
TThAT |

(C) UG I | 3Meeh, ITifereh qe
GRFidw  RAEOR @ sid-
T |

SHEET W A 39 W °
T B ST 5T TR ek TR 39
FAVRET H SACHAN T Fhal

il

(B)

(D)
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